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Instructions:
e Question No. 1 is compulsory.

* Attempt any 3 out of the remaining questions.
¢ Assume suitable data whenever required with proper justification

Q1 Attempt any four of the following. All sub questions carry. "'g: marks.’
(a)  Explain the three basic steps of vibration analysis,

(b)  Explain working principle of Fullarton tachometer
(c) A wheel is mounted on a steel shaft (G = 8

(d)
(e)
(ii) Frequency of damped vib ion.

(H How to determine the crltlcal*“

in figure below. Set
vibration of mass. _

(10

(109)

v (10)
) _t@ey deflect 3 mm under weight of 23 kg, find the percentage of
ed to the instrument board if the vibration of aircraft happens at
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Q4(a)

Q4(b)

Q5(a)

Q5(b)

Q6(t)  Compe
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It is required to measure the maximum acceleration of a machine whit
v1olently w1th frequency of 700 cyclesfmm ‘An accelerometer w:ﬁv

and maximum acceleration of the machme"
Four pulleys are equally spaced along a shaft and each has' $
at the same radius. The out of balance mass in second pulleyis. kg, ‘and th }

: \:

and fourth out of balance masses are at 72° and 220° o it. I , the’ 1;1

_ 5% (35;-S1) ,
U” I L Consf:am‘.l Where,’ 3
Is the phase angle corresponding.

ever larger than 90°? Explain

gh methods for analyzing beam vibrations. (06)
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